
12 Feb 2024 The Bellman-Ford Algorithm (36 . 8)

Input : A graph G = (V,E) (directed)

Edge costs Cur for each (net .

irement: No negative cost cycles.

ofFirstLecture : No cycles at d .

Eig ,
vertices are currencies (,,,
edge costs are log (exchange rate).
- los

(2)

⑦2i E 50 : / los (50)2
~ -

x -$ 100 : I
*
#-IO - log (100) Oend - &c -start

~ 1000 :

li9 *
=es (1000

- log(1/9)

Just add a
coust. to each edge cost

to make Them 20 ?
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Run Dijkstra?
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#N The min-cost sit path has

En vertices in it
.

Convert G with cycles into

Ex[n] acyclic .
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This construction reduces genera case

to DAG Case.

BF runs in
0(mn + n2)


